sitive correlation

following statement [ rue:

error 1s more harmiul than D, 10 ol (e [ ]




10. The total area under the curve is arbitrarily taken to be:

a. 10 b. 100
<. 1000 d. 10000
11. In an NPC, the mean, median and mode is:
a. 0 b. 1
c 2 b 3
12. The variables involved in Parametric tests must be measured in:
a. Interval scale b. Bothaandc
¢. Ratio scale d. Only b
1D A R R P tests are not based on the assumption of normal distribution of
population:
a. Parametric b. Significance
c. Non-Paramelric d. ANOVA
14. When the distribution curve is normal, the value of Kurtosis (Ku) is:
a. 0.236 b. 0.231
c. 0.261 d. 0.263
ok e R RN refers to a lack of symmelry:
a. Skewness b. Kurtosis
¢. Normal Curve d. Bolthaandb
16. The full form of “df’ is:
a. Decree of freedom b. Degree of frecdom
¢. Decree of flexibility d. Degree of flexibility
17. The normal curve extends between:
a. +loand mean b. 20
c. tlo d. + 3o
L B T O s is a test of significance when we have dala expressed in the form
of frequencies:
a. T-test b. ANOVA
c. z-lest d. Chi-square

19. The hypothesis which states that no difference exists between the scores of the
variables are:
a. Null hypothesis b. Rescarch hypothesis
¢. Alternate hypothesis d. Statistical hypothesis

20. A composile procedure for testing the significance of the mean difference between
more than two samples is:
a. Chi-square b. ANOVA
C I-lest d. Mann Whitney test
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( Descrigtivc]

Time : 2 Hr. 30 Mins.

[ Answer question no.1 & any four (4) from the rest |

What is the meaning of Statistics? Give the uses of Statistics in
Education and Psychology.

Discuss divergence in normality. In case of normal distribution what
should be the value of skewness?

In a particular test, there were 16 independent observations of a certain
magnitude with a mean of 100 and SD of 24. Find out at both 0.05 and
0.01 levels of confidence, the limits of the confidence interval for the
population mean.

a)  How does the procedure for determining the significance of the
mean of a small sample differ from that of a large sample?

b) 40 boys and 50 girls of class 9 were asked to choose one elective
subject among advanced mathematics, Information Technology,
Hindi, Assamese. The choices of the boys and girls are as follows:

Students £ __: ¢
Sex Advanced Information Hindi | Assamese [ Tolal
Mathemaltics | Technology Kl
Boys | 14 12 6 8 “[H401
Girls | 12 20 8 20 50

Test the hy pothesis thalt, the choice of the subject is dependent upon the
gender of students

A mathemalics teacher divides his class into two random groups. Ile
provides special coaching in compulation skill for an hour daily to the
experimental group hoping that such a drill will promote the
computation skill of the students of this group. The control group is nol
provided any such drill. At the end of the session, he administers an
achievement test and collects data as under:

B _|Experimental group [Control group
. Mean 35 gl SO
Sh 4, Do )

No. of students 18 45

Is the gain in mathematics significant enough?

131

Marks : 50

3+7=10

8+2=10

10

2+8=10

10
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